BbICOKOBOJIbTHBIH TPHOJ,
High-voltage triode

6C20C

BricokoBosbTHbBIN Tpuon 6C20C mupennasHaueH
Ijs paboTel B KayecTBe cTabuiu3atopa Hamps-
JKeHHUs1 NUTaHHsI aHOla KUHECKOlla B TeJeBU3HOH-
HBIX YCTpPOHCTBaX.

BricokoBosbTHBle Tpuoan 6C20C BhIIyCKamOTCs
B CTEKJAHHOM OQOpMJEHHH, C OKTAJbHBIM IIOKO-
JIeM, C OKCHIHBIM KaTOJOM KOCBEHHOr0o HakaJja.

BricokoBosibTHBIe TpHOAH 6C20C ycTOHYMBH K
BO3JEHCTBHIO OKpYXKawllell TeMnepaTypnl or —60
Io +70°C u OTHOCHTEJIbHOH BaaxHOCTH 95—989
npu temnepartype +40°C, a Takke K BO3IeHCTBHIO
MeXaHHYeCKHX Harpysok: BHOpDaIHOHHHIX 10 2,5 g,
yAapHbIX MHOTOKDATHHIX Io 12 g.

HaunGoapmnit Bec 80 e.

lapantupoBanHas poaroBeyHoctb 750 wacos.

The 6C20C high-voltage triode is used in tele-
vision equipment as a stabilizer of the kinescope
anode supply voltage.

The 6C20C high-voltage triodes are enclosed in
glass bulb and are provided with an octal base
and an indirectly heated oxide-coated cathode.

The 6C20C high-voltage triodes are resistant
to ambient temperature from —60 to +70° C and
relative humidity of 95 to 98% at +40° C, as well
as to mechanical loads: vibration loads up to
2.5 g and multiple impactloads up to 12 g.

Maximum weight: 80 gr.
Service life guarantee: 750 hr.

JIEKTPUYECKHE IAHHBIE
ELECTRICAL CHARACTERISTICS
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MEXXIOY3JEKTPOOHBIE EMKOCTH
INTERELECTRODE CAPACITANCES
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NPENEJBbHO OOMNYCTHMBIE 3KCINJIYATAULUOHHBIE NAHHBIE
MAXIMUM AND MINIMUM PERMISSIBLE RATINGS

Max
h 69V
25 kV
40 kV
—-250V
25 W

Min
57V

v CcCccca

Max
I 1,5 mA
Uy —225 V
R, 0,5 MQ
TéaJMOHa 200° G
bulb

1) IIpu BK/IIOYEHHH Ha XOJIOAHYIO JaMIy.
When switching in with the cold tube.
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